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Xll.sow ~ CHEMISTRY

Time: 3.00 His

, Marks: 70

SECTION-T-
Note: 1) Answer all the questions. 2) Choose the most suitable answer
{0ur siternatis es and write the option code and the corresponding ansier :-
1 Which of the following is used for concentrating ore in metallurgy?
a) Leaching b) Roasting ¢) Froth floatation d) Both (a) and (¢}
\ ‘ electrons as presentin V377

from the given
15X1=13

4, el one of the fottowing tons has the same aumber of unpaired

a) T b) Fe™ ¢) Ni¥t'« . - ~d)Cr
3. Crystalfield stabilization eneray for high spin 3 octahedral complexis
- a)-0.604,, b0 ¢) 2AP-4,) d) 2(P+4,)

4. Assertion : rate of re
first order reaction.
Reason : rate constant also doubles
2) Both assertion and reason are true and reason is the correct explanation of assertion.

b) Both assertion and reason are true but reason is not the correct explanation of assertion.
o) Assertion is true but reason is false. ' '
d) Both assertion and reason are false. -

5. Equalvolumes of three acid solutions of pH 1,2 and 3 are mixed ina vess

jon concentration in the mixture? : ;
2)3.7X 10° . b) 0% ¢)0.111 d) none of these
6. Incalcium fluoride, having the flurite structure the coordination number of Ca* ionand F~ fon

action doubles when the concentration of the reactant is doublesifitisa

ol What will be the H*

are

a)4and 2 b)6and6 ~  c¢)8andd d)4and 8

Which one of the following will react with phenol to give salicyladehyde after hydrolysis.

2) Dichloro methane  b)trichloroethane  c) trichloro methane - d) CO,

§.  The carbonyl compound used in the manufacture of Thermosoftening plast'ic.pers'pex is
a) Formaldehyde b) Acetaldehyde - c) Benzaldehyde d) Acetone

-9, Matchthe following:

|

A) Pure nitrogen. 1) Chlorine

B) Haber process. ii) Sulphuric acid

C) Contact process. ii)ammonia s ,
D) Deacons Process. ~~iv)sodiumazide (or) Barium azide

Which of the following is the correct option?
a) A<l B-ii C-ifi D-iv b) A-di B-iv C-1 D-iii ) A-iii B-iv C-ii D-i d) A-iv B-iii C-ii D-i
10. Whenaniline reacts with acetic anhydride the product formed is . '

a) 0 - aminoacetophenone. ' b) m-aminoacelophenoné
¢) p - aminoacetophenone : d) acetanilide,
1. The number of sp* and sp’ hybridised carbon in fructose are respectively
2) Land 4, b) 4 and 2 OSandl d)land$
12, The medicinal value of drugs is measured i terms of ts |
a) Deoxy ribose 'b)Go}ld number  ¢) Therapeutic Index  d) Equilibrium constant

13, Laptops have ) ‘
a) Lead storage battery  b) Fuel cell ) Mercury button cell d) Lithium ion battery
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LiT s hé
Sodium salt of tetra boric acid is known as _ o ML L
a) B.H, b) Na,BO, ¢ HBO, - d) Na,B,0..10 H,0
The correct order of the thermal stability of hydrogen hallvde is s i
a) HI > HBr > HCI > HF b)HF > HCI > HBr > HI
¢) HCl > HF > HBr > HI - d) HI > HCl > HF > HBr

: : SECTION - 11 P ;

Answeér any six questions and question number 23 is compulsory :- 6X2=12 .
Give the basic requirement for vapour phase refining. ‘ ' ;
Write the electronic configuration of Ce** and Co*". o ‘ ]

Give an example of coordination compound used in medicine an example of biologically important
coordination compounds. ' ' ;
Distinguish tetrahedral and octahedrai voids.

- What do you mean by Buffer solution. ' :

What is called as Brownian movement.
Write Riemer Tiemann reaction.
Acgount for the following Ethylamine is soluble in water whereas aniline is not
Write a short note on peptide bond R '

” e SECTION - III
ADSWC_I' any six questions and question number 29 is compulsory :- 6x3=18
How will you identify borate radical? ' :
What are the effects of lanthanide contraction? ;
Inan octahedral crystal field, draw the figure to show splitting of d orbitals.
Show that in case of first order reaction, the time required for 99.9% completion is nearly ten
times the time required for half completion of the reaction. . , : AY
lonic conductance at infinite dilution of A7 and SO,* are 189 and 160 mho cm? equiv™'.
Calcu!atc the equivalent and molar conductance of the electrolyte A7(SO,), at infinite dilution.
Describe some feature of catalysis by Zeolites. : 3 )
How will you distinguish primary,secondary and tertiary alcohol using Lucas test.
Explain the mechanism of Cannizzaro reaction.
What are food preservatives?. -

'SECTION-D
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(i) Explain the following terms with suitable examples. (i) Gangue (ii) slag (2) -

(i1) Explain zone refining process with an example. (3) (OR) '

(iii) Give the uses of silicones. (2) (iv) Describe the structure of diborane. (3)

(1) What are interhalogen compounds? Give examples. (2) - :
(1i) Explain the bleaching action of SO, (3) (OR)

Write the postulates of Werner’s theory. (5) :

Differentiate crystalline solids and aworphous solids. (5) (OR)

(iii) Define solubility product (2) '

(iv)Identify the conjugate acid base pair for the following reaction in aqueous solution. (3)

PHS (aq)+ HF“T—\‘? F~(ug)+ H,S8(aq).

INNH{CO" == NI, + HCO; _

(}) Dc§cnbe Ehc construction of Daniel cell. Write the cell reaction. (3) -

(i) ls it possible to store copper sulphate in an iron vessel for a long time.

(GWC\;:/:-E ctrn =034V g E¢ e -0.44V  (OR)

iii) Write a note on clectro osmosis (2) (iv) Write a note on catalytic poison with an example (3
Find A, B, C, D & E S(B) V) WHiteana cl Re(d)

HNEL 50 S ,' " , ; o A
1150, }A_;!M_)IJ Mr‘\((t,(/‘ll(g(‘r. TR, +H, 07— E 5).

) 0
(OR) (i) Write a note on denalurmi(m of proteins (2) '

. (ii) How do antiseptics differ from disinfectants? (3) ©RM 12 EM Chemistrv ?'rm'-?
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